Montage Handleiding

15 min

®)

NEW YORK 4 stuks):

6B 6A (R)

6A (L) 6C

Instructies voor gebruik en product informatie.

e BELANGRIJK/BEWAAR VOOR

(]

REFERENTIE / AANDACHTIG LEZEN

Laat je kind nooit achter zonder toezicht.

Alle verbindingen moeten ten aller tijde goed vastzitten. Schroeven mogen
niet loszitten zodat babies zich eraan kunnen verwonden of met delen van
kleding (koordjes, kraagjes) kunnen blijven haken of ophangen waardoor
er verstikkingsgevaar dreigt. Plaats niets op de aankleed unit: zoals plastic
zakken of verpakkingsmateriaal waardoor er ophangs- of
verstikkingsgevaar dreigt.

Plaats de aankleed unit nooit bij open vuur of andere hitte bronnen (zoals
electrische kachels) , scherpe voorwerpen, gordijnen koordjes,
waterbakken, etc. Ter voorkoming van mogelijk gevaar voor verwonding.

Onderhoudsinstructies:

De aankleed unit heeft geen speciaal onderhoud nodig. Wij adviseren
uitsluitend een vochtig doekje te gebruiken voor schoonmaken. Dit product
kan verkleuren bij langdurige blootstelling aan direct zonlicht.

Normaal gebruik. Na het luierverschonen zowel aankleedkussen als
aankleed unit goed schoon en droog maken.

Gebruik uitsluitend een aankleedkussen dat perfect past tussen de
opstaande randen. Gebruik nooit een aankleedkussen dat te groot is.

AANKLEED
UNIT

Kommode

NEW YORK

1 carton
YOR6110

hardware:
artnr: 6K
g——mm | "D

#15 Smmmm

32mm| X4 M4*15 X4

6A

32C

6x12  [x4] M4 [x1]

200 % 20@

1468 [x2| [46x46~" [x1]

v

N, N

VERSION:1.10 Pag 1




INSTRUCTION DE MONTAGE

15 min

®)

NEW Y@RK (4 pieces):

6B 6A (R)

6A (L) 6C

Instructions d'utilisation et marquages du produit.

e o o

Important ! A conserver pour consultation ultérieure. A lire soigneusement.

Ne pas laisser I'enfant sans surveillance.

Tous les dispositifs d'assemblage devraient toujours étre convenablement
serrés et qu'un soin particulier devrait étre apporté au fait que les vis ne
soient pas desserrées, car un enfant pourrait accrocher une partie de son
corps ou de son vétement (par exemple : des cordons, des colliers, des
rubans pour sucettes de bébé) ce qui présenterait un danger
d'étranglement.

Rappelant les risques que peuvent entrainer une flamme nue et toute
autre source de chaleur intense, comme les chauffages électriques a
résistance, les chauffages a gaz, etc. ..., lorsqu'ils sont a proximité du
dispositif a langer.

Nettoyage et maintien:

Matelas: Nettoyer avec lessive douce.

Boiserie : Nettoyer avec linge humide et assécher. Nous recommandons de
ne pas nettoyer avec lessive. Les couleurs peuvent changer a cause de
I'exposition au lumiere du soleil.

Emploi normal: Aprés changement de linge, enlever toute I'eau.

Employer seulement un matelas qui va bien entre les bords, le matelas ne
peut pas étre plus grand.

PLANCHE
A LONGUE

Commode

NEW YORK

1 carton
YOR6110

visserie:
artnr: 6K
gT——mm | "D

#15 Smmmm

32mm| X4 M4*15 X4

6A
6x12 [x4] M4 [x1]

200 % 20@

1468 [x2| [46x46~" [x1]

32C

v

N, N

VERSION:1.10 Pag 2




MOUNTING INSTRUCTIONS

15 min

®)

NEW YORK (4 pieces):

6B 6A (R)

6A (L) 6C

Instructions for use and product information.

(]

IMPORTANT / RETAIN FOR FUTURE
REFERENCE / READ CAREFULLY

Never leave your child unsupervised.

All fittings must be properly fastened at all times. Screws must not be
loose, as children can become stuck on them or items of clothing (e.g.
cords, necklaces, and dummy chains) can get caught up on them, and
then there is a risk of strangulation. Do not put anything on the changing
unit that can be dangerous for the child: things like plastic bags, that can
cause suffocation or hanging.

Never position the changing unit near fans, fires, sources of heat,
electrical equipment, sharp edges, dangling curtain cords, ties, ribbons or
water tanks. These pose a risk of injury.

Care instructions:

For cleaning the changing pad, please use a damp cloth and mild detergent.
The changing unit requires no maintenance. To clean the changing unit, we
advise not to use detergent but to clean it with a damp cloth. The color
might change while exposed to sunlight.

Normal use: after changing diaper, dry the changing pad and changing
unit.

Only use a changing pad which perfectly fits between the borders of the
changing unit. Never use a changing pad which is too big.

CHANGING
UNIT

Commode

NEW YORK

1 carton
YOR6110

hardware:
artnr: 6K
gT——mm | "D

#15 Smmmm

32mm| X4 M4*15 X4

6A
6x12 [x4] M4 [x1]

200 % 20@
14X68 W W

46X46

32C

v

N, N

VERSION:1.10 Pag 3




INSTRUCCIONES DE MONTAJE
®)

15 min

NEW YORK ( 4 piezas)

6B 6A (R)

6A (L) 6C

Instrucciones de uso e informacion del producto.

- IMPORTANTE / CONSERVAR PARA FUTURA CONSULTA / LEER
DETENIDAMENTE

- Nunca deje a su hijo sin vigilancia.

- Todas las piezas deben estar siempre adecuamente sujetas. Los tornillos no
deben quedar flojos, ya que los nifios pueden dafiarse con ellos o bien
complementos y piezas de ropa (como por ejemplo cordones, collares o
cadenas) pueden quedarse enganchados, con riesgo de estrangulamiento. No
coloque sobre el cambiador nada que pueda ser peligroso para el nifio:
elementos como bolsas de plastico, que pueden provocar asfixia o
ahorcamiento.

- Nunca coloque el cambiador cerca de ventiladores, estufas, fuentes de calor,
fuentes eléctricas, cantos puntiagudos, cordones de cortina suspendidos,
corbatas, cintas de pelo o depdsitos de agua. Estos elementos representan un
riesgo de lesion.

- Instrucciones de mantenimiento:
Para limpiar la almohadilla textil del cambiador, use por favor un trapo humedo y
detergente suave. El cambiador no requiere mantenimiento. Para limpiar el
cambiador, aconsejamos no utilizar detergente, solamente limpiarlo con un trapo
hdmedo. El color puede cambiar por la exposicion a la luz del sol.

- Uso normal: después del cambio de panales, secar la almohadilla textil y el
cambiador.

. - Solamente utilizar una almohadilla textil que ajuste perfectamente en
los lados del cambiador. Nunca usar una almohadilla textil que sea
demasiado grande.

CAMBIADOR

Coémoda

NEW YORK

1 caja
YOR6110

Herraje:
Art nr: 6K
g——mm | "D

#15 Smmmm

32mm| X4 M4*15 X4

6A
6x12 [x4] M4 [x1]

200 % 20@

1468 [x2| [46x46~" [x1]

32C

v

N, N

VERSION:1.10 Pag4




15
32mm X4
1
16D
M4*15 X4 | 46X46 X2

VERSION:1.10 Pag 1




/

32C () mm
M6x12

X4

6A

M4

200

X1

X2

VERSION:1.10 Pag 2




4 7®m 37
[X1]| 3516 [x1] JW

VERSION:1.10 Pag 3




